# Drazin Invertibility of Product and Difference of Idempotents in a Ring 

Jianlong Chen, Huihui Zhu<br>Department of Mathematics, Southeast University, Nanjing 210096, China


#### Abstract

In this paper, several equivalent conditions on the Drazin invertibility of product and difference of idempotents are obtained in a ring. Some results in Banach algebras are extended to the ring case.


## 1. Introduction

Throughout this paper, $R$ denotes an associative ring with unity 1 . Recall that an element $a \in R$ is said to be Drazin invertible if there exists $b \in R$ such that

$$
a b=b a, b a b=b, a^{k}=a^{k+1} b
$$

for some positive integer $k$. The element $b$ above is unique if it exists and denoted by $a^{D}$. The least such $k$ is called the Drazin index of $a$, denoted by $\operatorname{ind}(a)$. If ind $(a)=1$, then $b$ is called the group inverse of $a$ and is denoted by $a^{\#}$. By $R^{D}$ we mean the set of all Drazin invertible elements of $R$.

Drazin inverses are closely related to some regularity of rings. It is well known that $a$ is Drazin invertible if and only if $a$ is strongly $\pi$-regular (i.e., $a^{n} \in a^{n+1} R \cap R a^{n+1}$ for some nonnegative integer $n$ ) if and only if $a^{m}$ is group invertible for some positive integer $m$. Hence $a$ is Drazin invertible if and only if $a^{m}$ is Drazin invertible for some (any) integer $m$, and in particular if and only if $a^{2}$ is Drazin invertible. In [11,12], Koliha and Rakočević studied the invertibility of the difference and the sum of idempotents in a ring and proved that $p-q$ is invertible if and only if $1-p q$ and $p+q$ are invertible for any idempotents $p$ and $q$. Many authors extended the ordinary invertibility to the Drazin invertibility. For example, Cvetković-Ilić and Deng [4] showed that $p-q$ is Drazin invertible if and only if $1-p q$ and $p+q-p q$ are Drazin invertible where $p, q$ are idempotent operators of a Hilbert space. Further Deng and Wei [8] proved that if $p, q$ are idempotents in $\mathscr{A}=\mathcal{B}(X)$, the ring of all bounded linear operators in a complex Banach space $X$, then: (1) $p-q \in \mathscr{A}^{D}$ if and only if $p+q \in \mathscr{A}^{D}$ if and only if $1-p q \in \mathscr{A}^{D}$; (2) $p q-q p \in \mathscr{A}^{D}$ if and only if $p q+q p \in \mathscr{A}^{D}$ if and only if $p q \in \mathscr{A}^{D}$ and $p-q \in \mathscr{A}^{D}$. These results are generalized to Banach algebras in [10]. More results on the Drazin invertibility of sum, difference and product of idempotents can be found in [3-8,10,13].

Motivated by the excellent papers [3,4,11,12], we consider the Drazin invertibility of $p-q, p q, p q-q p$ (commutator) and $p q+q p$ (anti-commutator), where $p$ and $q$ are idempotents in a ring. Some results, obtained in $[3,4]$ in the context of Banach algebras, are extended to the ring case.

[^0]
## 2. Key Lemmas

In this section, we begin with some elementary and known results which play an important role in section 3 .

Lemma 2.1. ([9]) (1) Let $a \in R^{D}$. If $a b=b a$, then $a^{D} b=b a^{D}$,
(2) Let $a, b \in R^{D}$ and $a b=b a=0$. Then $(a+b)^{D}=a^{D}+b^{D}$.

Lemma 2.2. ([14]) Let $a, b \in R^{D}$ and $a b=b a$. Then $a b \in R^{D}$ and $(a b)^{D}=b^{D} a^{D}=a^{D} b^{D}$.
Lemma 2.3. ([2]) Let $a, b \in R$ and $a b \in R^{D}$. Then $b a \in R^{D}$ and $(b a)^{D}=b\left((a b)^{D}\right)^{2} a$.
Lemma 2.4. ([1]) Let $a, b \in R$. Then $1-a b \in R^{D}$ if and only if $1-b a \in R^{D}$.
Lemma 2.5. Let $a, b \in R^{D}$ and $p^{2}=p \in R$. If ap $=p a$ and $b p=p b$, then $a p+b(1-p) \in R^{D}$ and

$$
(a p+b(1-p))^{D}=a^{D} p+b^{D}(1-p)
$$

Proof. Since $p^{2}=p$, we have $p^{D}=p$. Thus, $a, b, p \in R^{D}$. Note that $a p=p a$ and $b p=p b$. We obtain $(a p)^{D}=a^{D} p$ and $(b(1-p))^{D}=b^{D}(1-p)$ by Lemma 2.2. As $a p b(1-p)=b(1-p) a p=0$, according to Lemma 2.1(2), it follows that $(a p+b(1-p))^{D}=a^{D} p+b^{D}(1-p)$.

Lemma 2.6. Let $a \in R, p^{2}=p \in R, b=p a(1-p)$ and $c=(1-p)$ ap. The following statements are equivalent:
(1) $b+c \in R^{D}$,
(2) $b c \in R^{D}$,
(3) $b-c \in R^{D}$.

Proof. (1) $\Rightarrow$ (2) Since $(b+c)^{2}=(b c+c b)$ and $b+c \in R^{D}$, we have $b c+c b \in R^{D}$. Let $x=(b c+c b)^{D}$. As $p(b c+c b)=(b c+c b) p$, we obtain that $p x=x p$ by Lemma 2.1(1). Next, we prove that $(b c)^{D}=p x p$.

Since $x=(b c+c b) x^{2}$, we get

$$
p x p=p(b c+c b) x^{2} p=b c x^{2} p=b c\left(p x^{2} p\right)=b c(p x p)^{2} .
$$

By $(b c+c b) x=x(b c+c b)$, we obtain $p(b c+c b) x p=p x(b c+c b) p$. It follows that $b c(p x p)=(p x p) b c$.
Because $(b c+c b)^{n+1} x=(b c+c b)^{n}$ for some $n$, we have

$$
\left((b c)^{n+1}+(c b)^{n+1}\right) x=(b c)^{n}+(c b)^{n} .
$$

Multiplying the equation above by $p$ on two sides yields

$$
p(b c)^{n+1} x p=p(b c)^{n} p
$$

i.e., $(b c)^{n+1} p x p=(b c)^{n}$. So, $b c$ is Drazin invertible and $(b c)^{D}=p x p$.
(2) $\Rightarrow$ (1) According to Lemma 2.3, $b c \in R^{D}$ is equivalent to $c b \in R^{D}$. Note that $b c \cdot c b=c b \cdot b c=0$. We have $(b+c)^{2}=(b c+c b) \in R^{D}$ by Lemma 2.1(2). It follows that $b+c \in R^{D}$.
$(2) \Leftrightarrow(3)$ Its proof is similar to $(1) \Leftrightarrow(2)$.
Lemma 2.7. Let $a \in R$ with $a-a^{2} \in R^{D}$ or $a+a^{2} \in R^{D}$. Then $a \in R^{D}$.
Proof. We only need to prove the situation when $a-a^{2} \in R^{D}$ with $x=\left(a-a^{2}\right)^{D}$.
By Lemma 2.1(1), it is clear $a x=x a$ since $a\left(a-a^{2}\right)=\left(a-a^{2}\right) a$.
Since $a-a^{2} \in R^{D}$, we get $\left(a-a^{2}\right)^{n}=\left(a-a^{2}\right)^{n+1} x$ for some integer $n \geq 1$, that is,

$$
a^{n}(1-a)^{n}=a^{n+1}(1-a)^{n+1} x .
$$

Note that

$$
a^{n}(1-a)^{n}=a^{n}\left(1+\sum_{i=1}^{n} C_{n}^{i}(-a)^{i}\right)
$$

It follows that

$$
a^{n}=a^{n+1}\left[(1-a)^{n+1} x+\sum_{i=1}^{n} C_{n}^{i}(-a)^{i-1}\right]=\left[(1-a)^{n+1} x+\sum_{i=1}^{n} C_{n}^{i}(-a)^{i-1}\right] a^{n+1}
$$

This shows $a^{n} \in a^{n+1} R \cap R a^{n+1}$. Hence, $a \in R^{D}$.

## 3. Main Results

In what follows, $p$ and $q$ always mean two arbitrary idempotents in a ring $R$. We give some equivalent conditions for the Drazin invertibility of $p-q, p q, p q-q p$ and $p q+q p$.

Proposition 3.1. The following statements are equivalent:
(1) $1-p q \in R^{D}$, (2) $p-p q \in R^{D}$,
(3) $p-q p \in R^{D}$, (
(4) $1-p q p \in R^{D}$, (5) $p-p q p \in R^{D}$,
(6) $1-q p \in R^{D}$, (7) $q-q p \in R^{D}$,
(8) $q-p q \in R^{D}$,
(9) $1-q p q \in R^{D}$, (10) $q-q p q \in R^{D}$.

Proof. (1) $\Leftrightarrow(6)$ is obvious by Lemma 2.4. We only need to prove that $(1)-(5)$ are equivalent.
(1) $\Leftrightarrow(4) 1-p q=1-p(p q)$ is Drazin invertible if and only if $1-p q p$ is Drazin invertible by Lemma 2.4.
$(4) \Rightarrow(5)$ Since $p \in R^{D}$ and $p(1-p q p)=(1-p q p) p=p-p q p$, we obtain that $p-p q p$ is Drazin invertible according to Lemma 2.2.
(5) $\Rightarrow$ (4) Pose $a=p-p q p, b=1$. Then $a$ and $b$ are Drazin invertible. Since $1-p q p=(p-p q p)+1-p$, it follows that $1-p q p=a p+b(1-p)$ is Drazin invertible in view of Lemma 2.5.
(2) $\Leftrightarrow$ (5) Since $p-p q=p p(1-q)$ and $p-p q p=p(1-q) p$, the result follows by Lemma 2.3.
(2) $\Leftrightarrow$ (3) By Lemma 2.3, $p(1-q) \in R^{D} \Leftrightarrow(1-q) p \in R^{D}$.

Finally, the other equivalences follow by interchanging $p$ and $q$.
By replacing $p$ and $q$ with $1-p$ and $1-q$ in Proposition 3.1, respectively, we get the following result immediately.

Corollary 3.2. The following statements are equivalent:
(11) $p+q-p q \in R^{D}$,
(12) $q-p q \in R^{D}$,
(13) $q-q p \in R^{D}$,
(14) $p+(1-p)(q-q p) \in R^{D}$,
(15) $(1-p) q(1-p) \in R^{D}$,
(16) $p+q-q p \in R^{D}$,
(17) $p-q p \in R^{D}$,
(18) $p-p q \in R^{D}$,
(19) $q+(1-q)(p-p q) \in R^{D}$,
(20) $(1-q) p(1-q) \in R^{D}$.

Finally, as $p-p q$ appears in Proposition 3.1 (eq. 2) and Corollary 3.2 (eq. 18), we get
Corollary 3.3. Statements (1) - (10) of Proposition 3.1 are equivalent with statements $(11)-(20)$ of Corollary 3.2.
In 2012, Koliha, Cvetković-Ilić and Deng [10] proved that $p-q \in \mathscr{A}^{D}$ if and only if $1-p q \in \mathscr{A}^{D}$ if and only if $p+q-p q \in \mathscr{A}^{D}$ where $p, q$ are idempotents in a Banach algebra $\mathscr{A}$. It is natural to consider whether the same property can be inherited to the Drazin inverse of ring versions. The following result proves that the statement holds in the ring case.

Theorem 3.4. The following statements are equivalent:
(1) $p-q \in R^{D}$,
(2) $1-p q \in R^{D}$,
(3) $p+q-p q \in R^{D}$.

Proof. (1) $\Rightarrow(2)$ As $p(p-q)^{2}=(p-q)^{2} p=p-p q p$, then $1-p q p=(p-q)^{2} p+1-p$.
Let $a=(p-q)^{2}$ and $b=1$. Then $a p=p a, b p=p b$. Since $p-q \in R^{D}$, we obtain that $a=(p-q)^{2} \in R^{D}$. By Lemma 2.5, $1-p q p=a p+b(1-p) \in R^{D}$. Therefore, $1-p q$ is Drazin invertible by Lemma 2.4.
$(2) \Leftrightarrow(3)$ This is Corollary $3.3((2) \Leftrightarrow(11))$.
(3) $\Rightarrow$ (1) Let $a=1-p q p, b=1-(1-p)(1-q)(1-p)$. Then $a p=p a, b p=p b$ and $a \in R^{D}$ by Corollary 3.3. As $1-(1-p)(1-p)(1-q)=p+q-p q \in R^{D}$, then $b \in R^{D}$ by Lemma 2.4. Finally, $a p+b(1-p)=(p-q)^{2} \in R^{D}$ by Lemma 2.5 , hence $p-q \in R^{D}$.

Cvetković-Ilić, Deng [3] considered the Drazin invertibility of product and difference of idempotents in a Banach algebra $\mathscr{A}$. Moreover, they proved that if one of $p q, 1-p-q$ and $(1-p)(1-q)$ belongs to $\mathscr{A}^{D}$ then they all do. We extend the result in [3] to the ring cases.

Theorem 3.5. The following statements are equivalent:
(1) $p q \in R^{D}$,
(2) $1-p-q \in R^{D}$,
(3) $(1-p)(1-q) \in R^{D}$.

Proof. (1) $\Leftrightarrow$ (2) Let $\bar{p}=1-p$. Then $\bar{p}-q \in R^{D}$ if and only if $q-\bar{p} q \in R^{D}$ by Proposition 3.1 and Theorem 3.4. Since $\bar{p}-q=1-p-q$ and $q-\bar{p} q=p q$, (1) $\Leftrightarrow$ (2) holds.
(1) $\Leftrightarrow$ (3) Set $\bar{p}=1-p$. Then $\bar{p}-\bar{p} q \in R^{D}$ if and only if $q-\bar{p} q \in R^{D}$ by Proposition 3.1. Since $\bar{p}-\bar{p} q=(1-p)(1-q)$ and $q-\bar{p} q=p q$, the result follows.

Theorem 3.6. The following statements are equivalent:
(1) $p q-q p \in R^{D}$,
(2) $p q \in R^{D}$ and $p-q \in R^{D}$.

Proof. Pose $b=p q(1-p)$ and $c=(1-p) q p$. Then $b-c=p q-q p$.
$(1) \Rightarrow(2)$ As by hypothesis $b-c \in R^{D}$, then $p q p-(p q p)^{2}=p q(1-p) q p=b c \in R^{D}$ by Lemma 2.6. It follows that $p q p \in R^{D}$ by Lemma 2.7, hence $p q=p(p q) \in R^{D}$ by Lemma 2.3.

Similarly, $(1-p) q-q(1-p)=-(p q-q p) \in R^{D}$ implies $q-p q=(1-p) q \in R^{D}$. Therefore, $p-q \in R^{D}$ by Proposition 3.1 and Theorem 3.4.
$(2) \Rightarrow(1)$ By Lemma 2.3, both $p q p$ and $(p-q)^{2}$ are Drazin invertible. Note that $b c=p q(1-p) q p=$ $p q p(p-q)^{2}=(p-q)^{2} p q p$. It follows that $b c$ is Drazin invertible by Lemma 2.2. Hence, according to Lemma 2.6, we have $p q-q p=b-c \in R^{D}$.

We can give an interesting result similar to Theorem 3.6.
Theorem 3.7. The following statements are equivalent:
(1) $p q+q p \in R^{D}$,
(2) $p q \in R^{D}$ and $p+q \in R^{D}$.

Proof. (1) $\Rightarrow$ (2) Since $p q+q p=-(p+q)+(p+q)^{2}=(p+q-1)+(p+q-1)^{2} \in R^{D}, p+q \in R^{D}$ and $p+q-1 \in R^{D}$ according to Lemma 2.7. Therefore, $p q \in R^{D}$ by Theorem 3.5.
$(2) \Rightarrow(1)$ Since $p q+q p=(p+q)(p+q-1)=(p+q-1)(p+q), p q+q p \in R^{D}$ by Lemma 2.2 and Theorem 3.5.

Remark 3.8. Let $p, q$ be two idempotents in a Banach algebra. Then, $p+q$ is Drazin invertible if and only if $p-q$ is Drazin invertible [10]. Hence, $p q+q p$ is Drazin invertible is equivalent to $p q-q p$ is Drazin invertible in a Banach algebra. However, in general, this need not be true in a ring. For example, let $R=\mathbb{Z}, p=q=1$. Then $p-q=0 \in R^{D}$, but $p+q=2 \notin R^{D}$.

## ACKNOWLEDGMENTS

We would like to express our sincere thanks to the referee for his/her careful reading and valuable remarks that helped us to improve the presentation of our work tremendously.

## References

[1] N. Castro-González, C. Mendes-Araújo and P. Patrício, Generalized inverse of a sum in rings, Bull. Aust. Math. Soc. 82 (2010) 156-164.
[2] R. E. Cline, An application of representation for the generalized inverse of a matrix, MRC Technical Report 592, 1965.
[3] D.S. Cvetković-Ilić, C.Y. Deng, Some results on the Drazin invertibility and idempotents, J. Math. Anal. Appl. 359 (2009) 731-738.
[4] D.S. Cvetković-Ilić, C.Y. Deng, The Drazin invertibility of the difference and the sum of two idempotent operators, J. Comput. Appl. Math. 233 (2010) 1717-1722.
[5] C.Y. Deng, Characterizations and representations of group inverse involving idempotents, Linear Algebra Appl. 434 (2011) 1067-1079.
[6] C.Y. Deng, The Drazin inverses of products and differences of orthogonal projections, J. Math. Anal. Appl. 335 (2007) 64-71.
[7] C.Y. Deng, The Drazin inverses of sum and difference of idempotents, Linear Algebra Appl. 430 (2009) 1282-1291.
[8] C.Y. Deng, Y.M. Wei, Characterizations and representations of the Drazin inverse involving idempotents, Linear Algebra Appl. 431 (2009) 1526-1538.
[9] M.P. Drazin, Pseudo-inverses in associative rings and semigroups, Amer. Math. Monthly 65 (1958) 506-514.
[10] J.J. Koliha, D.S. Cvetković-Ilić and C.Y. Deng, Generalized Drazin invertibility of combinations of idempotents, Linear Algebra Appl. 437 (2012) 2317-2324.
[11] J.J. Koliha, V. Rakočević, Invertibility of the difference of idempotents, Linear Multilinear Algebra 50 (2003) 97-110.
[12] J.J. Koliha, V. Rakočević, Invertibility of the sum of idempotents, Linear Multilinear Algebra 50 (2002) 285-292.
[13] Y. Li, The Drazin inverses of products and differences of projections in a C*-algebra, J. Aust. Math. Soc. 86 (2009) 189-198.
[14] G.F. Zhuang, J.L. Chen, D.S. Cvetković-Ilić and Y.M. Wei, Additive property of Drazin invertibility of elements in a ring, Linear Multilinear Algebra 60 (2012) 901-910.


[^0]:    2010 Mathematics Subject Classification. 15A09, 16U99.
    Keywords. Drazin inverse, idempotent, commutator, anti-commutator.
    Received: 18 October 2013; Accepted: 05 February 2014
    Communicated by Dragana Cvetković-Ilić
    Research supported by the National Natural Science Foundation of China (11371089), the Specialized Research Fund for the Doctoral Program of Higher Education (20120092110020) and the Foundation of Graduate Innovation Program of Jiangsu Province(CXLX13-072).

    Email addresses: jlchen@seu.edu.cn (Jianlong Chen), ahzhh08@sina. com (Huihui Zhu)

